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BPw: #sql {SELECT AVG(SALARY) INTO :(AvgSalParm[0]) FROM EMP}; @

. . . §
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throw(e);

rs[0] = iterl.getResultSet();
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int ifcaret;
int ifcareas;
int xsbytes;
String errbuff;
Connection con;
CallableStatement cstmt;
ResultSet rs;

cstmt = con.prepareCall("CALL DSN8.DSNSED2(?,?,2,2,7)");
cstmt.setString (1, "DISPLAY THREAD(*)");
cstmt.registerOutParameter (2, Types.INTEGER);
cstmt.registerOutParameter (3, Types.INTEGER);
cstmt.registerOutParameter (4, Types.INTEGER);
cstmt.registerOutParameter (5, Types. VARCHAR);
cstmt.executeUpdate();

ifcaret = cstmt.getInt(2);

ifcareas = cstmt.getInt(3);

xsbytes = cstmt.getInt(4);

errbuff = cstmt.getString(5);

cstmt.close(); ©
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package s1;
import sqlj.runtime.*;
import java.sql.*;
import java.math.*;
#sql iterator NameSal(String LastName, BigDecimal Salary); D
public class S1Sal {
public static void getSals(BigDecimal[] AvgSalParm, java.sql.ResultSet[] rs) 2)
throws SQLException {
NameSal iterl;
try {
#sql iterl = {SELECT LASTNAME, SALARY FROM EMP ©)
WHERE SALARY>0 ORDER BY SALARY DESC};



